
 

 

Hoja 2.3                                    Matemáticas 3º ESO                                      © FerMates 
Soluciones (Versión β, puede contener errores) 
 1.-  a)   22 424 xyyxxy +−   =  ( )yxxy 222 +−  

 b)   cbacbacba 3422322 3−+   =  ( )baacccba 222 3−+  

 c)    cbacbabca 322222 693 +−   =   ( )22 2313 bbcbca +−  

 d)    222 624 yxxyyx −+    =   ( )xyxxy 3122 −+  
  
2.-  a)    P(– 1) =  – 4   P(2) = – 4  
 b)    P(– 1) =  – 4   P(2) =  5  
 c)    P(– 1) =  – 5   P(2) = 5  
 d)    P(– 1) =  1   P(2) = 37  
 e)    P(– 1) =  32   P(2) = 32  
  

3.-  a)   xxx +− 23 2   =  ( )21−xx  

 b)   164 −x    =   ( )( )( )2242 −++ xxx  

 c)   xx 93 −    =   ( )( )33 −+ xxx  

 d)   25102 +− xx    =   ( )25−x  

 e)   234 96 xxx +−    =   ( )22 3−xx  

 f)   32162 2 +− xx    =   ( )242 −x  

 g)   1004 2 −x      =     ( )( )554 −+ xx  

 h)   562 +− xx    =   ( )( )51 −− xx  

 i)   xxx 43 23 −−    =   ( )( )41 −+ xxx  
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